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(A)  Geneva, Switzerland 
(B)  New Delhi, India 
(C)  Rome, Italy (D)  New York, U.S.A. 

1. The headquarter of world meteorological
organizaBon is at

Question Id : 1

(A)  ,  (B)   ,  
(C)  ,  
(D)  , ... 

1.     

Question Id : 1

(A)  Oxygen (B)  Nitrogen 
(C)  Carbon (D)  Hydrogen 

2. Biologically organic material uBlized by bacteria
and plant

Question Id : 2

(A)   (B)   
(C)   (D)   

2.      


Question Id : 2

(A)  DirecBon of light (B)  Quality of light 
(C)  DuraBon of light (D)  Intensity of light 

3. Long, short and neutral day plants are classified
based on

Question Id : 3

(A)    (B)    
(C)    (D)    

3. ,       


Question Id : 3

(A)  organic manure, green manure, crop
residue applicaBon 

(B)  organic manure, bitumine clay, crop residue
applicaBon 

(C)  green manure, polyvinyl alcohol, crop
residue applicaBon 

(D)  organic manure, bitumine clay, polyvinyl
alcohol 

4. PracBcal method of increasing stability of soil
aggregates

Question Id : 4

(A)   ,  ,    
(B)   ,  ,  

 
(C)   ,  , 

  
(D)   ,  , 

 

4.      

Question Id : 4

(A)  Contour bond (B)  Broad based bond 
(C)  Both contour and broad based bond 
(D)  Graded bonds 

5. For areas having medium rainfall with poor
permeability the recommended mechanical
structure of bond is

Question Id : 5

(A)    
(B)     
(C)        
(D)    

5.       
    

Question Id : 5

(A)  6 (B)  2 
(C)  15 (D)  4 

6. Karnataka is drained by ______ no. of water
resources region.

Question Id : 6

(A)  6 (B)  2 
(C)  15 (D)  4 

6.    

Question Id : 6
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(A)  Grasses (B)  Sedges 
(C)  Broad leaved (D)  Filamentous 

7. Cyperus family weeds are generally belongs to

Question Id : 7

(A)   (B)   
(C)    ( )  
(D)    

7.     

Question Id : 7

(A)  Slightly toxic (B)  Moderately toxic 
(C)  Highly toxic (D)  Extremely toxic 

8. Poison signal word is red in printed for this
toxicity category of herbicide

Question Id : 8

(A)    (B)    
(C)    (D)     

8.      

Question Id : 8

(A)  Yield of crops/duraBon of crops 
(B)  Net returns/gross returns 
(C)  Net returns/duraBon of crops 
(D)  (Gross returns − cost of culBvaBon) / yield

of crop 

9. System efficiency of the crops is given by

Question Id : 9

(A)    /   
(B)    /   
(C)    /   
(D)   ,   /   

9.     

Question Id : 9

(A)     litre (B)     litre 

(C)     litre (D)     litre 

10. One hectare mm of water is equal to

Question Id : 10

(A)      (B)      

(C)      (D)      

10.        

Question Id : 10

(A)  Germany (B)  Switzerland 
(C)  France (D)  U.S.A. 

11. ‘IFOAM’ an InternaBonal OrganizaBon on
organic agriculture located in

Question Id : 11

(A)   (B)    
(C)   (D)   

11. ‘IFOAM’    

Question Id : 11

(A)  VolaBlizaBon (B)  DenitrificaBon 
(C)  VaporizaBon (D)  EvaporaBon 

12. Loss of Nitrogen from urea in the form of
Ammonia takes place under alkaline reacBon
and high temperature is called as

Question Id : 12

(A)   (B)   
(C)   (D)   

12.      
   
    

Question Id : 12

(A)  Resource creaBon 
(B)  Resource management 
(C)  Resource uBlizaBon (D)  All of these 

13. Watershed concept is mainly on the basis of

Question Id : 13

(A)    (B)    
(C)    (D)    

13.     

Question Id : 13
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(A)  1,55,555/ha (B)  55,555/ha 
(C)  22,222/ha (D)  18,000/ha 

14. Maize crop is planted at a spacing of 60 cm ×
30 cm will have populaBon of

Question Id : 14

(A)  1,55,555 /  (B)  55,555 /  
(C)  22,222 /  (D)  18,000 /  

14.   60 .. × 30 .. 
    

Question Id : 14

(A)  Mean deviaBon (B)  Mean 
(C)  Median (D)  Mode 

15. Which of the following is a centre of dispersion
?

Question Id : 15

(A)    (B)   
(C)   (D)   

15. “  ”   ?

Question Id : 15

(A)  Sugarcane (B)  Maize 
(C)  Paddy (D)  Bajra 

16. Crop logging technique is associated with

Question Id : 16

(A)   (B)    
(C)   (D)   

16.      


Question Id : 16

(A)  Tensiometers 
(B)  Gypsum resistance blocks 
(C)  Rapid moisture meter 
(D)  Neutron probe 

17. The equipment used for scheduling of irrigaBon
in coarse textured sandy soils more accurately
at the range of 0.1 to 0.85 atmosphere

Question Id : 17

(A)   (B)     
(C)     
(D)    

17.    0.1 to 0.85  
  

Question Id : 17

(A)  Sunnhemp (B)  Dhaincha 
(C)  Azolla (D)  Pillipesara 

18. The plant used for green manure in wetland
rice culture

Question Id : 18

(A)   () (B)   
(C)   (D)   

18.     
 

Question Id : 18

(A)  Pecuniary economics 
(B)  Real economics 
(C)  Nominal economics 
(D)  Monetary economics 

19. The economics associated with reducBon in the
physical quanBty of inputs per unit of output is

Question Id : 19

(A)    (B)    
(C)    (D)    

19.     
     
.

Question Id : 19
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(A)  1 (B)  0 
(C)  0.5 (D)  1.5 

20. Average Product (AP) is maximum when
elasBcity of producBon is

Question Id : 20

(A)  1 (B)  0 
(C)  0.5 (D)  1.5 

20.   (EP)    
(AP)     ?

Question Id : 20

(A)  Seasonal unemployment 
(B)  FricBonal unemployment 
(C)  Structural unemployment 
(D)  Keynesian unemployment 

21. The type of unemployment apparent in
agriculture is

Question Id : 21

(A)    (B)    
(C)    (D)    

21.      

Question Id : 21

(A)  Mortgage loan (B)  Hypothecated loan 
(C)  ChaMel loan (D)  Open loan 

22. The loan lent by pawn brokers is

Question Id : 22

(A)    (B)     
(C)    (D)    

22.     

Question Id : 22

(A)  0 (B)     
(C)     (D)     

23. Cross elasBcity of demand in case of
compliments

Question Id : 23

(A)  0 (B)     
(C)     (D)     

23.       
  ?

Question Id : 23

(A)  Adam Smith (B)  David Ricardo 
(C)  Marshall (D)  Keynes 

24. Water diamond paradox was propounded by

Question Id : 24

(A)    (B)    
(C)   (D)    

24.  −   

Question Id : 24

(A)  Total Fixed Cost (TFC) 
(B)  Marginal Cost (MC) 
(C)  Total Variable Cost (TVC) 
(D)  Total Cost (TC) 

25. Which of the following cost curve starts from
origin ?

Question Id : 25

(A)     
(B)   ()  
(C)     (D)    

25.      
(origin)  ?

Question Id : 25

(A)  Perfect compeBBve market 
(B)  Monopoly market 
(C)  MonopolisBc market 
(D)  Oligopoly market 

26. Kinked demand curve is observed in case of

Question Id : 26

(A)     
(B)    
(C)     
(D)     

26.       
 ?

Question Id : 26
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(A)  2 hp (B)  1 hp 
(C)  0.5 hp (D)  0.75 hp 

27. Power generated by an average pair of bullocks
is

Question Id : 27

(A)  2  (B)  1  
(C)  0.5  (D)  0.75  

27.      


Question Id : 27

(A)  InexhausBble energy 
(B)  ExhausBble energy 
(C)  Biomass energy (D)  Biogas energy 

28. Wind energy is an example for

Question Id : 28

(A)    (B)    
(C)    (D)     

28.       ?

Question Id : 28

(A)  Exhaust stroke (B)  SucBon stroke 
(C)  Compression stroke (D)  Power stroke 

29. Energy released stroke in a four stroke cycle
engine is

Question Id : 29

(A)    (B)    
(C)    (D)    

29. 4     
  ?

Question Id : 29

(A)  Turbine engine (B)  Petrol engine 
(C)  Diesel engine (D)  Electric motors 

30. Air alone is drawn into the combusBon
chamber in

Question Id : 30

(A)    (B)    
(C)    (D)    

30.       
 ?

Question Id : 30

(A)  Spark plug (B)  Fuel nozzle 
(C)  FricBon of piston (D)  Radiator 

31. In petrol engine the required energy to burn
the air fuel mixture is obtained by

Question Id : 31

(A)    (B)    
(C)     (D)   

31.       
  

Question Id : 31

(A)  Frog (B)  Mould board 
(C)  Landside (D)  Share 

32. PenetraBon into the soil in a M.B. Plough is
accomplished

Question Id : 32

(A)   (B)    
(C)    (D)   

32. .. ()     
  ?

Question Id : 32

(A)  2002 (B)  2000 
(C)  2003 (D)  2001 

33. First transgenic coMon variety approved for
commercial culBvaBon in India, in the year

Question Id : 33

(A)  2002 (B)  2000 
(C)  2003 (D)  2001 

33.      
    
 ?

Question Id : 33
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(A)  Coffee (B)  Pepper 
(C)  Betel vine (D)  Rubber 

34. Pollu beetle, Lanka ramakrishnae is a major
pest of

Question Id : 34

(A)   (B)   
(C)   (D)   

34.      
 .

Question Id : 34

(A)  1978 (B)  1968 
(C)  1988 (D)  1958 

35. NaBonal Centre for Integrated Pest
Management (NCIPM) established in the year

Question Id : 35

(A)  1978 (B)  1968 
(C)  1988 (D)  1958 

35.      (NCIPM)
   ?

Question Id : 35

(A)  Wax & soil or resin 
(B)  Wax & dried leaf material 
(C)  Wax & dead bees 
(D)  Wax & Queen material 

36. Dammer bee comb is made up of a dark
material called ‘Cerumen’ which is a mixture of

Question Id : 36

(A)       
(B)      
(C)      
(D)       

36.      
 ,   

Question Id : 36

(A)  Cecidomyiid larvae 
(B)  Mycetophilid larvae 
(C)  Chironomid larvae (D)  Psycodid larvae 

37. Respiratory spiracles absent in

Question Id : 37

(A)    
(B)    
(C)    (D)    

37.       ?

Question Id : 37

(A)  Homologous organs 
(B)  Analogous organs 
(C)  VesBgial organs (D)  Circulatory organs 

38. The wings of buMerfly and birds are

Question Id : 38

(A)    () 
(B)     () 
(C)    () 
(D)    () 

38.       
 ?

Question Id : 38

(A)  Hormone (B)  Pheromone 
(C)  OviposiBonal deterrent 
(D)  Feeding deterrent 

39. Feeding in insects can be checked by the use of

Question Id : 39

(A)    (B)    
(C)      
(D)     

39.     
  ?

Question Id : 39
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(A)  ScolyBdae (B)  Nymphalidae 
(C)  HalBcidae (D)  TephriBdae 

40. Male and female produced complex epideicBc
pheromones is a feature associated with

Question Id : 40

(A)   (B)   
(C)   (D)   

40.      
epideictic     
  ?

Question Id : 40

(A)  Nepidae (B)  Corixidae 
(C)  Cicindelidae (D)  DyBcidae 

41. Insects carrying air space under their elytra
belongs to which family ?

Question Id : 41

(A)   (B)   
(C)   (D)   

41.        
   ?

Question Id : 41

(A)  Xylosandrus compactus 
(B)  Xylotrechus quadripes 
(C)  Zeuzera coffeae (D)  Coccus viridis 

42. Major pest on Arabica coffee in Southern India
grown under inadequate shade

Question Id : 42

(A)    
(B)    
(C)    (D)    

42.       
 ,   
.

Question Id : 42

(A)  Apis florea (B)  Apis laboriosa 
(C)  Trigona irridipennis (D)  Apis dorsata 

43. The following bee species is called as an
Himalayan Cliff honey-bee

Question Id : 43

(A)    (B)    
(C)    (D)    

43.     “ 
”   ?

Question Id : 43

(A)  Sanders, H.C. (B)  Vidyarthi, G.S. 
(C)  Abraham Maslows (D)  Irving Longe 

44. Hierarchy of human needs was suggested by
__________ .

Question Id : 44

(A)   .. (B)   .. 
(C)    (D)    

44.     
__________ .

Question Id : 44

(A)  Six (B)  Five 
(C)  Four (D)  Three 

45. There are ________ steps in extension
teaching.

Question Id : 45

(A)   (B)   
(C)   (D)   

45.   ________ .

Question Id : 45

(A)  knowledge (B)  aTtude 
(C)  understanding (D)  skills 

46. Method demonstraBon is most effecBve in
teaching ________ .

Question Id : 46

(A)   (B)   
(C)   (D)   

46.   ________  
 .

Question Id : 46
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(A)  A. Adivi Reddy (B)  Edger Dale 
(C)  K. A. Jalihal (D)  Berlo, D. K. 

47. Cone of experience was devised by ________

Question Id : 47

(A)  .   (B)    
(C)  ..  (D)   .. 

47.     
________

Question Id : 47

(A)  Slides (B)  Flash cards 
(C)  Photographs (D)  Charts 

48. An example of projected visual aid is ________
.

Question Id : 48

(A)   (B)    
(C)    (D)    

48.     
________ .

Question Id : 48

(A)  Message (B)  Channels 
(C)  Source (D)  Receiver 

49. Physical bridges between sender and receiver
of messages in communicaBon process are
called

Question Id : 49

(A)   (B)   () 
(C)   () (D)   

49.    
    
_______ .

Question Id : 49

(A)  Louis Pasteur (B)  Robert WhiMaker 
(C)  Robert Koch (D)  Masaki Ogata 

50. Five kingdom system of classificaBon was set
up by :

Question Id : 50

(A)    (B)    
(C)    (D)    

50.     
 

Question Id : 50

(A)  Euglenoids (B)  Diatoms 
(C)  Desmids (D)  Sea weeds 

51. Silicified and halved cell walls are
characterisBcs of :

Question Id : 51

(A)   (B)   
(C)    (D)    

51.     
  

Question Id : 51

(A)  Gelidium (B)  Anabaena 
(C)  Trichoderma (D)  Azotobacter 

52. Following organism is used in the preparaBon
of Agar Agar :

Question Id : 52

(A)   (B)   
(C)   (D)   

52.   − 
.

Question Id : 52

(A)  Phycorrhiza (B)  AcBnorrhiza 
(C)  Mycorrhiza (D)  Plectorrhiza 

53. A mutualisBc associaBon between a fungus and
roots of vascular plants :

Question Id : 53

(A)   (B)   
(C)   (D)   

53.     
  

Question Id : 53
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(A)  305 days (B)  1 day 
(C)  21 days (D)  60 days 

54. The duraBon of reproducBve cycle in healthy
cow

Question Id : 54

(A)  305  (B)  1  
(C)  21  (D)  60  

54.      

Question Id : 54

(A)  Cow (B)  Poultry 
(C)  Sheep (D)  Pig 

55. Blue tongue disease is common in

Question Id : 55

(A)   (B)   
(C)   (D)   

55.      


Question Id : 55

(A)  Jaffarabadi (B)  Murrah 
(C)  SurB (D)  Dharwad 

56. The buffalo breed having sickle shaped horn

Question Id : 56

(A)   (B)   
(C)   (D)   

56.     

Question Id : 56

(A)  1 mb (B)  10 kb 
(C)  20 kb (D)  40 kb 

57. Yeast arBficial chromosomes vector can
accommodate about ________ size foreign
DNA.

Question Id : 57

(A)  1  (B)  10  
(C)  20  (D)  40  

57.       
 ...  .

Question Id : 57

(A)  Primer (B)  Intron 
(C)  Desired DNA 
(D)  Both Primer and Intron 

58. The DNA fragment to be introduced into the
host cell is called

Question Id : 58

(A)   (B)   
(C)   ... 
(D)      

58.    ... 
 .

Question Id : 58

(A)  1 : 10 (B)  1 : 20 
(C)  10 : 1 (D)  20 : 1 

59. The proporBon of oxygen liberated in
photosynthesis and oxygen consumed in
respiraBon during day is in the raBo of

Question Id : 59

(A)  1 : 10 (B)  1 : 20 
(C)  10 : 1 (D)  20 : 1 

59. ,    
    
  -

Question Id : 59

(A)  Auxins (B)  Gibberelins 
(C)  Cytokinins (D)  Abscissic acid 

60. The growth regulator responsible for bolBng in
biennial plants

Question Id : 60

(A)   (B)   
(C)   (D)    

60.      
    

Question Id : 60
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(A)  Nose (B)  Bones 
(C)  Ears (D)  Eyes 

61. Vitamin D deficiency is health problem related
to

Question Id : 61

(A)    (B)    
(C)    (D)    

61.      

Question Id : 61

(A)  Fossil fuel burning (B)  Biofuel burning 
(C)  Wood burning (D)  Volcanoes 

62. Major anthropogenic source of GHG is

Question Id : 62

(A)     
(B)    
(C)    (D)   

62.   ... 
 

Question Id : 62

(A)  ComposBng (B)  VermicomposBng 
(C)  Vermins (D)  Animals 

63. A technique using earthworm organic maMer is
decomposed

Question Id : 63

(A)   (B)   
(C)    (D)   

63.     


Question Id : 63

(A)  Square system (B)  Hexagonal system 
(C)  Rectangular system (D)  Quincunx system 

64. A system of orchard layout where in the
distance between plants in all direcBon is same

Question Id : 64

(A)    (B)    
(C)    (D)     

64.      
   

Question Id : 64

(A)  Soaking the seeds in Sulphuric acid 
(B)  Placing seeds in layers of sand at low

temperature 
(C)  Soaking in hot water 
(D)  Soaking seeds in gibberellic acid soluBon 

65. StraBficaBon of seed is carried out by

Question Id : 65

(A)    
(B)      

 
(C)    
(D)      

65.     


Question Id : 65

(A)  Veneer graVing (B)  Side graVing 
(C)  Approach graVing (D)  Wedge graVing 

66. Which of the following graVing methods is an
aMached scion method ?

Question Id : 66

(A)    (B)    
(C)    (D)    

66.       
 ?

Question Id : 66

(A)  MaMocking (B)  Denaveling 
(C)  Tipping (D)  Desuckering 

67. Removal of banana male bud is referred as

Question Id : 67

(A)   (B)   
(C)   (D)   

67.     

Question Id : 67
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(A)  Kesar (B)  Dashehari 
(C)  Chausa (D)  Langra 

68. The most popular North Indian mango variety
used for canning and export

Question Id : 68

(A)   (B)   
(C)   (D)   

68.     
    

Question Id : 68

(A)  Rough lemon (B)  Sour orange 
(C)  Rangapur lime (D)  Trifoliate orange 

69. The most commonly used rootstock for sweet
orange in Karnataka.

Question Id : 69

(A)    (B)    
(C)    
(D)    

69.     
   

Question Id : 69

(A)  Orthotropes (B)  Runners 
(C)  Plagiotropes (D)  Geotrophes 

70. FruiBng branches of black pepper

Question Id : 70

(A)   (B)   
(C)   (D)   

70.    

Question Id : 70

(A)  Kerala (B)  Sikkim 
(C)  Tamil Nadu (D)  Karnataka 

71. The leading cardamom producing state in India

Question Id : 71

(A)   (B)   
(C)   (D)   

71.     

Question Id : 71

(A)  SoVwood graVing (B)  Air layering 
(C)  Epicotyl graVing (D)  Patch budding 

72. Commercial method of cashew propagaBon

Question Id : 72

(A)    (B)    
(C)    (D)      

72.     

Question Id : 72

(A)  Radish (B)  Carrot 
(C)  Cabbage (D)  Beet root 

73. Crimson Globe is a variety of

Question Id : 73

(A)   (B)   
(C)   (D)    

73.      

Question Id : 73

(A)  Closteroviridae (B)  Geminiviridae 
(C)  Rhabdoviridae (D)  Nanoviridae 

74. Citrus triBza virus belonging to a family

Question Id : 74

(A)   (B)   
(C)   (D)   

74.       ?

Question Id : 74

(A)  Pycnidiospore (B)  Aeciospore 
(C)  Basidiospore (D)  Teliospore 

75. PhyllosBcta leaf spot in Ginger produces

Question Id : 75

(A)   (B)   
(C)   (D)   

75.      
  

Question Id : 75

Page: 12

M
ASTER P

APER



(A)  Flat limb (B)  Flat leg 
(C)  Flat palm (D)  Flat hand 

76. FasciaBon in sapota also called as

Question Id : 76

(A)    (B)    
(C)    (D)    

76.    


Question Id : 76

(A)  Late blight of potato 
(B)  Early blight of potato 
(C)  Cercospora leaf spot 
(D)  Septoria leaf spot 

77. SIMCAST refers to

Question Id : 77

(A)     
(B)      
(C)     
(D)     

77.    

Question Id : 77

(A)  Benzimadazole (B)  Carboxomides 
(C)  Organophosphates (D)  Morphalines 

78. Systemic fungicide carbondizim belonging to a
group

Question Id : 78

(A)   (B)    
(C)   (D)   

78.     


Question Id : 78

(A)  Viruses (B)  Bacteria 
(C)  Nematodes (D)  Protozoans 

79. Cobb’s sieving method used for isolaBon of

Question Id : 79

(A)   (B)    
(C)   /   
(D)   

79.     
 

Question Id : 79

(A)  Blast disease (B)  Blight disease 
(C)  Sheath Blight disease 
(D)  Sheath rot disease 

80. Diamond/Spindle shaped grey spots on the
paddy leaves resulted in

Question Id : 80

(A)    (B)    
(C)     (D)    

80.     
   ?

Question Id : 80

(A)  Uncinula (B)  Erisiphae 
(C)  Sphaerotheca (D)  Podosphera 

81. Which genera where cleistothecium contain
several asci bearing rigid appendages with
coiled Bp ?

Question Id : 81

(A)   (B)   
(C)   (D)   

81.      
   

Question Id : 81

(A)  K.C. Mehta (B)  Mundukar, B.B. 
(C)  Payak, M.M. (D)  Thirumalachar 

82. Significant contribuBon on the Epidemiology of
stem rust of wheat was made by

Question Id : 82

(A)  ..  (B)  ..  
(C)  ..  (D)   

82.     
     ?

Question Id : 82
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(A)  70% (B)  80% 
(C)  90% (D)  85% 

83. Minimum germinaBon percentage of cerBfied
seed in hybrid maize is

Question Id : 83

(A)  70% (B)  80% 
(C)  90% (D)  85% 

83.   /   
  

Question Id : 83

(A)  5 (B)  7 
(C)  9 (D)  10 

84. Minimum number of field counts to be taken in
an area of 10 ha in sorghum seed producBon
plot is

Question Id : 84

(A)  5 (B)  7 
(C)  9 (D)  10 

84. 10 ha      
   ?

Question Id : 84

(A)  Oxygen (B)  Aluminium 
(C)  Silicon (D)  Iron 

85. The most dominant caBon in the earth’s crust

Question Id : 85

(A)   (B)   
(C)   (D)   

85.      
 

Question Id : 85

(A)  Albite (B)  Anorthite 
(C)  Hornblend (D)  Plagioclase 

86. Which of the following is a disconBnuous
member series mineral ?

Question Id : 86

(A)   (B)   
(C)    (D)   

86.     (discontinuous) 
  ?

Question Id : 86

(A)  0.0133     (B)  0.133    

(C)  1.33    (D)  13.3    

87. If 1.33 g/cc bulk density value is expressed in SI
unit, it will be _____

Question Id : 87

(A)  0.0133     (B)  0.133    

(C)  1.33    (D)  13.3    

87. ..  1.33 g/cc       (BD)
   _______ .

Question Id : 87

(A)  Berylium 
(B)  Radium and Berylium 
(C)  Boron trifluoride gas enriched with Boron

10 
(D)  Americum & Berylium 

88. In Neutron probe the detector used for
counBng thermal neutrons is

Question Id : 88

(A)   
(B)     
(C)      1 0   

  
(D)     

88.     
 

Question Id : 88
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(A)  Perfectly drained soil 
(B)  Submerged soil 
(C)  Imperfectly drained soil 
(D)  Sandy soils 

89. Rust moMles are common in

Question Id : 89

(A)     
(B)     
(C)     
(D)    

89.      
   ?

Question Id : 89

(A)  Kaoilinite (B)  Vermiculite 
(C)  SmecBte (D)  Chlorite 

90. Brucite layer is present in which of the clay
mineral ?

Question Id : 90

(A)   (B)   
(C)   (D)   

90.       
 ?

Question Id : 90

(A)  Arid climate (B)  Cat clays 
(C)  Kerala (D)  pH 4.5 

91. With respect of acid sulphate soil, which one is
not correct ?

Question Id : 91

(A)    (B)    
(C)   (D)   4.5 

91.       
 ?

Question Id : 91

(A)  Sulphates (B)  Carbon dioxide 
(C)  Nitrates (D)  Iron 

92. When aerobic soil is saturated with water,
which of the following is reduced first ?

Question Id : 92

(A)   (B)     
(C)   (D)   

92.      
   
 ?

Question Id : 92

(A)  Beadle and Tatum (B)  Johannsen 
(C)  Watson and Crick (D)  Stadler 

93. Pureline theory was proposed by

Question Id : 93

(A)     (B)   
(C)     (D)   

93.   

Question Id : 93

(A)  Bengaluru (B)  Hyderabad 
(C)  New Delhi (D)  Chennai 

94. Headquarters of ICRISAT is located at

Question Id : 94

(A)   (B)   
(C)    (D)   

94. ICRISAT 

Question Id : 94

(A)  Homozygous heterogeneous 
(B)  Homozygous homogeneous 
(C)  Heterozygous heterogeneous 
(D)  Heterozygous homogeneous 

95. GeneBc structure of a pureline

Question Id : 95

(A)     
(B)     
(C)     
(D)     

95.   

Question Id : 95
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(A)  Pedigree method (B)  Bulk method 
(C)  Single seed descent method 
(D)  Mass selecBon 

96. A method of handling segregaBng generaBons
when there is maximum opportunity for a
breeder selecBon

Question Id : 96

(A)     (B)     
(C)       
(D)     

96.      
_______   .

Question Id : 96

(A)  Isogenic (B)  Non-isogenic 
(C)  Iso-cytoplasmic (D)  Allo-genic 

97. A and B lines in hybrid seed producBon are

Question Id : 97

(A)   (B)    
(C)    (D)   

97.   A  B 

Question Id : 97

(A)  Homozygous heterogeneous 
(B)  Homozygous homogeneous 
(C)  Heterozygous homogeneous 
(D)  Heterozygous heterogeneous 

98. The geneBc consBtuBon of a landrace variety of
a strictly self-pollinated crop

Question Id : 98

(A)     
(B)     
(C)     
(D)     

98.      
 

Question Id : 98

(A)  52% (B)  25% 
(C)  50% (D)  75% 

99. The maximum recombinaBon between two
linked genes is

Question Id : 99

(A)  52% (B)  25% 
(C)  50% (D)  75% 

99.      

Question Id : 99

(A)  Half of cross-over frequency 
(B)  Double that of cross-over frequency 
(C)  Three-Bmes of cross-over frequency 
(D)  Same as that of cross-over frequency 

100. The recombinaBon frequency between two
linked genes is

Question Id : 100

(A)      
(B)      
(C)      
(D)     

100.      


Question Id : 100
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  – 2017
 

    
30-07-2017

. 9.30  .  1.00 
   

   

       

200 200  180 
  

     
   

     0
            :
           1.         ...       

.

           2.            2    ,   . 9.50   .

           3.         /  ...      

.   
           4.      ...       .
            :
           1.      ...      /  / .

           2.        . 10.00  . ,

                           ·          .

                           ·           .

                           ·      ...   . 
                                                                                 

           1.        100 ,   4    .

           2.          . 10.00   /        
           ,  
     .  ...  
.

           3.       180  :                                             
                           ·         .

                           ·                 .   
            .  

                           ·           ...      
           .

                                ...      :   
           4.       ...          .  ...

   .

           5.            . ...   .

           6.         . 1.00    .        .

           7.      ...     .                                                   
           8.           (KEA copy)      ( )

     .

           9.            .

           10.                
 .   .  
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